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5. 216 Ol X==¢ (el &)
g.-&.8.3 Ofl &t & S0 AroH Blusz
= Al 5,149,000 4,560,000 589,000
200 MI2l==¢ 2,693 3,000 A307
210 BAEN 2+ 2,693 3,000 A307
216 OlAt==&d 2,693 3,000 A307
216-01 SZ0120I X+ 2,693 3,000 2307
< EE3EF > 2,693 3,000 A307
O3302 Olkt= 2,693,000 * 1Al 2,693
500 E£32 3,812,773 3,298,900 513,873
510 218X 3S 3,812,773 3,298,900 513,873
511 |208X3s 3,812,773 3,298,900 513,873
511-03 0|12 3,812,773 3,298,900 513,873
< SFESH > 3,812,773 3,298,900 513,873
ogsZ==Hz=e2 3,812,773
—SZIIZAIE EXIY] 827,000
- 2009 P==Al GH=21EM] BTL €02
487,000,00024 * 14! 487,000
- 2010 Z==Al ob==2t1EH| BIL &UHIE
274,000,0002 * 14! 274,000
LAl FHO2E 66,000,000 * 14l 66,000
—E3I|E=AIE 23| 1,586,477
St=xeld 2Z 1,341,59,000 * 1Al 1,341,596
OISdteHMelAld 29 244,881,000 * 1Al 244,881
—QQHESAIAAE OIHE It 57,000,000 * 14l 57,000
—HiSARZAIE ZELIHE 25,050,000 * 14l 25,050
—IIEEh 33H2AE 29| K& 454,146,000 * 14! 454,146
—HIBH AN LA 863,100,000 * 1Al 863, 100
700 2SN 1,333,534 1,258,100 75,434
720 LHEHeH 1,333,534 1,258,100 75,434
721 M= 1,158,000 961,600 196,400
721-03 JIEISI HE LS 1,158,000 961,600 196,400
< SE3E3F > 1,158,000 961,600 196,400
Ogeg|H M= 1,158,000
—330XelAE FEH WEZ A 600,0002 * 38JHA 22,800
—S3otHelAE 2Z2el 29|
54,000,0002 * 6IHXIT 324,000
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700 2= AUSHHEHH
720 LHEHH

721 TeI2 (crel: e
o8- ol &bt i = 0f st bls2

—330teHalAIE Meld sels=Ht]

9,000,000 * 38IHA 342,000
—=3otHelAld HEE 2a4MY|
3,000,000 * 534 159,000
—330tHMelAlE M HAHEIE 255
125,000,000& * 14! 125,000
—&30t=XMelAlE £4Xl Held
65,0002 * Q0IHA * 12€ 70,200
—330t=HMelAIE (FII1R)I|=T e
110,000,000& * 14! 110,000
—330t=HelAlE =222 X2l 5,000,000 * 1Al 5,000
722 O 2L 02 175,534 296,500 120,966
722-03 (I 2322 175,500 296,500 121,000
SE23S > 175,500 296,500 121,000
Ollgs &S sl 175,500,0002 * 14! 175,500
722-04 MIEt=0I K=& 34 0 A
<ESBESH > U 0 34
OWErZ OIXF 42 34,0003 * 14] 34
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EHASS 5,149,000 4,560,000 589,000
p 3,812,773
Al 1,336,227
Q-H4 2A2|(2H/AolE - 7)) 2,980,404 2,491,831 488,573
D 1,644,177
Al 1,336,227
SEDNSZR| (RN EEEIH) 2,980,404 2,491,831 488,573
Il 1,644,177
Al 1,336,227
2R PR 44,660 46,520 21,860
201 LBt HH| 36,160 32,120 4,040
01 At222IH 6,200 3,000 3,200
OSHEZAIR get= 1Y
200,000 * 6% = 1& 1,200
OFZABHN EES HH 200,000 * 4& 800
OB =0 M= 60,0002 * 2004 1,200
OLIES 0|HE I &L SLIHE JATTH A
1,500,000 » 24l 3,000
02 222 29,960 29,120 840
Og & 31%7 B 48
80,0002 * 15JHA * 129 14,400
OE AL =&EBA =7
200,000 * 253 5,000
Odt&E = =Z2AA =2
80,000 * 11JHA » 12% 10,560
202 04| 6,000 6,900 2900
01 2U04dl 6,000 6,900 2900
OFE 2 AIZ2ZAF (44|
90,0002 » 19 » 30 2,700
OQYE2H ZAF 0iHl 90,0008 * 2% * 5 900
OstEY gsts ol
20,0009 * 2% * 5 » 122 2,400
206 MHZH] 2,500 4,500 22,000
01 TH2H] 2,500 4,500 A2,000
O+ZHeH 283 « XY W2 7
500,000 * 53] 2,500
OIS6taTAlE AX| 1,274,967 1,194,980 79,987
201 LEH2EH] 104,767 108,380 A3,613
01 At222IH 1,667 2,000 2333
O33otrHelAld 28 28 dSX H&
1,667,000 » 14l 1,667
02 2229 103, 100 106,380 A3,280
OS3ot=HelAlE SEH nEZAH|
600,0002 * 38JHA 22,800
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_ _ bSlEl= —~
2A -3 A2(ZH) - MRAR - BES 0| AkoH OTIE%H Hns2
O2Z5IHelAlE A2
500,0002 * 1Al 500
OBIZB+R2IAL SEAN 242
175,000 * 38IHA » 12% 79,800
401 A& HIZ 200 1,170,200 1,086,600 83,600
01 Al&H] 1,170,200 1,086,600 83,600
OZ225t=HElAE 2922 29
54,000,00024 * 6IHKIT 324,000
O2I5IETAIE ZHHEAM
7,0002 * 500m * 102 35,000
O2Z25tE=He Al Held $=2l44H|
9,000,000 * 384 342,000
O2Z6IEHelAlE BOE 42|44H]
3,000,0008 » 534 159,000
O2Z6IEHelAlL S S0EIL 242
125,000,000 * 14l 125,000
OZ225t=HelAld SR JMeldl
65,0008 * QOIHA » 128 70,200
O2BoteHelAE (FII1H) IR
110,000,000 * 1Al 110,000
O2Z5HEHelAlE SRR -2
5,000,000 = 14! 5,000
(2)QA=24niz| O|HEIHIR 57,000 57,000 0
] 57,000
207 AN 57,000 57,000 0
] 57,000
01 =AY 57,000 57,000 0
OS2 AIHHE OIHE I}
57,000,000 * 1Al 57,000
] 57,000
(D)A=SAC| HIESAZAIE DLIEE 25,050 25,500 A450
] 25,050
207 &1 PIHEHH| 25,050 25,500 2450
2l 25,050
01 =AY 25,050 25,500 2450
OHISAIRZAIE 2LIHY 25,050,000 * 1Al 25,050
] 25,050
(2)EAIIZAE 29 0ISoIESAIE 2 261,481 212,921 48,560
] 244,831
Al 16,600
201 LEH2 Y] 261,481 212,921 48,560
] 244,881
Al 16,600
02 2Z229H] 261,481 212,921 48,560
OlISsteTAlE ®MI|e=
251,881,0002 * 14l 251,881
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i (2Z/40H4E - +7)
el SEfE BRI (SEHASEEIH) (el @)
S - BB ER(EH) - MIRAR - BER of e Cie imE=T
o D44, B8
Al 7,000
OlISoH+EAIE S22 80,0002 * 128 9,600
(2)tEEL 23MelAd 228 T 454,146 573,910 A119,764
p] 454, 146
307 BI2H0IH 454, 146 573,910 A119,764
p] 454, 146
03 BRI HEE ST EE 454, 146 573,910 AT119,764
OJIE2L BIHAE 2|
454, 146,0002! * 141 454, 146
p] 454, 146
ENEEEEREEE 863, 100 381,000 482,100
p] 863, 100
403 XEXISHHIS XH=01 & 863, 100 381,000 482,100
ol 863, 100
02 B)I 2SO =R S AT 863, 100 381,000 482,100
OBIE QB AT AL 863,100,002 * 14! 863, 100
p] 863, 100
WL (BAESI) (BE/Ao4E - +7) 2,168,506 2,068, 169 100,427
p 2,168,506
TEVEEIRESPIIEEEEST) 2,168,59% 2,068, 169 100,427
b 2,168,59%
(2)EBINZAE &R SH2H(HEHHKIE) 827,000 761,400 65,600
p] 827,000
701 JIELEIHSRES 827,000 761,400 65,600
p] 827,000
03 DIGELIN =R ES 827,000 761,400 65,600
02000 Al GH-ZIFHIBILYHIE
487,000,0002! * 141 487,000
p] 487,000
02010 YAl SH-ZIFHIBILYHE
274,000,008 * 14! 274,000
p] 274,000
OYFAl =8 o2 FY|
66,000,002 * 141 66,000
p] 66,000
(2)BFIZAE 2% ZBot=He AL (HSHHKIE) 1,341,506 1,306,769 34,827
b 1,341,506
701 JIEFBIHSHES 1,341,506 1,306,769 34,827
p 1,341,506
02 BISEEIHIIHES 1,341,506 1,306,769 34,827
OdteH2lE 29 1,341,596,0008! * 14} 1,341,506
p 1,341,506






